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A B D

fo|kF;k±lkBh egŸokP;k lwpuk
1. ifj{kkFkh±uh vkiyk vklu ÿekad ;k i`"Bkojhy ojP;k dksiÚ;kr fygkok-

rlsp vki.kkal fnysY;k mŸkjif=dspk ÿekad R;k[kkyh fygkok-
2. lnj iz'uif=dsr 75 cgqi;kZ; iz'u vkgsr- izR;sd iz'ukl nksu xq.k

vkgsr- ;k iz'uif=dsrhy loZ iz'u lksMfo.ks vfuok;Z vkgs- lnjps iz'u
gs ;k fo"k;kP;k laiw.kZ vH;klÿekoj vk/kkfjr vkgsr-

3. ijh{kk lq: >kY;koj fo|kF;kZyk iz'uif=dk fnyh tkbZy- lq#okrhP;k 5
feuhVkae/;s vki.k lnj iz'uif=dk m?kMwu [kkyhy ckch vo'; riklwu
igkO;kr-
(i) iz'uif=dk m?kM.;klkBh iz'uif=dsoj ykoysys lhy m?kMkos-

lhy ulysyh fdaok lhy m?kMysyh iz'uif=dk fLodk: u;s-
(ii) ifgY;k i`"Bkoj uewn dsY;kizek.ks iz'uif=dsph ,dw.k i`"Bs

rlsp iz'uif=dsrhy ,dw.k iz'ukaph la[;k iMrk w̌u igkoh-
i`"Bs deh vlysyh@deh iz'u vlysyh@iz'ukapk pwdhpk
ÿe vlysyh fdaok brj =qVh vlysyh lnks"k iz'uif=dk
lq#okrhP;k 5 fefuVkrp i;Zos{kdkyk ijr ns≈u nqljh
iz'uif=dk ekxowu ?;koh- R;kuarj iz'uif=dk cnywu
feˇ.kkj ukgh rlsp oš gh ok<owu feˇ.kkj ukgh ;kph œi;k
fo|kF;k±uh uksan ?;koh-

(iii) ojhyizek.ks loZ iMrkˇwu ifgY;kuarjp iz'uif=dsoj
vks-,e-vkj- mŸkjif=dspk uacj fygkok-

4. izR;sd iz'uklkBh (A), (B), (C) vkf.k (D) v'kh pkj fodYi mŸkjs fnyh
vkgsr- R;krhy ;ksX; mŸkjkpk jdkuk [kkyh n'kZfoY;kizek.ks Bˇdi.ks
dkˇk@fuˇk djkok-
mnk- % tj (C) gs ;ksX; mŸkj vlsy rj-

5. ;k iz'uif=dsrhy iz'ukaph mŸkjs vks-,e-vkj- mŸkjif=dsrp n'kZokohr-
brj fBdk.kh fyghysyh mŸkjs riklyh tk.kkj ukghr-

6. vkr fnysY;k lwpuk dkˇthiwoZd okpkO;kr-
7. iz'uif=dsP;k 'ksoVh tksMysY;k dksÚ;k ikukojp dPps dke djkos-
8. tj vki.k vks-,e-vkj- oj uewn dsysY;k fBdk.kk O;frjh‰ brj dksBsgh

uko] vklu ÿekad] Qksu uacj fdaok vkš [k iVsy v'kh dks.krhgh [kw.k
dsysyh vk< w̌u vkY;kl vFkok vlH; Hkk"kspk okij fdaok brj xSjekxk±pk
voyac dsY;kl fo|kF;kZyk ijh{ksl vik= Bjfo.;kr ;sbZy-

9. ijh{kk laiY;kuarj fo|kF;kZus ew̌  vks-,e-vkj- mŸkjif=dk i;Zos{kdkadMs
ijr dj.ks vko';d vkgs- rFkkih] iz'uif=dk o vks-,e-vkj- mŸkjif=dsph
f}rh; izr vkiY;kcjkscj us.;kl fo|kF;k±uk ijokuxh vkgs-

10. Q‰ fuˇÓk fdaok dkˇÓk ckWy isupkp okij djkok-
11. dWyD;qysVj fdaok ykWx Vscy okij.;kl ijokuxh ukgh-
12. pqdhP;k mŸkjklkBh xq.k dikr dsyh tk.kkj ukgh-

A B D
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1. In 2013, Justice J.S. Verma

Committee was constituted to

suggest :

(A) Prison reforms

(B) Electoral reforms

(C) Police reforms

(D) Amendments to laws relating to

safety and security of women

1. lu 2013 e/;s U;k;eqrhZ ts-,l- oekZ lferh

d'kklkBh use.;kr vkyh gksrh \

(A) rq#ax lq/kkj.kk

(B) fuoM.kwd lq/kkj.kk

(C) iksfyl lq/kkj.kk

(D) fL=;kaph lqjf{krrk vkf.k laj{k.kfo"k;d

dk;|krhy lq/kkj.kk

Sociology
Paper III

lekt'kkL=
iz'uif=dk III

Time Allowed : 2½ Hours] [Maximum Marks : 150

Note : This Paper contains Seventy Five (75) multiple choice questions, each

question carrying Two (2) marks. Attempt All questions.

lwpuk % ;k iz'uif=dsr ,dw.k ipgŸkj (75) cgqi;kZ;h iz'u fnysys vkgsr- izR;sd iz'ukyk nksu (2)

xq.k vkgsr- loZ iz'u lksMok-
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2. Two statements are given below.

One is labelled as Assertion (A)

and the other is labelled as

Reason (R) :

Assertion (A) : Despite continues

planned initiatives for eradication of

poverty, rural poverty ratio in India

has not reduced substantially.

Reason (R) : High poverty ratio in

rural areas is largely attributed to

the socio-cultural practices of

population remaining at lower rungs

of the rural society.

In the context of the above

statements, which one of the

following is correct :

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanatin

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

2. [kkyh ,d fo/kku (A) vkf.k nqlÚ;kl dkj.k

(R) vls lacks/kys vkgs %

fo/kku (A) : nkfjÊÓ fuewZyuklkBhps fu;kstucº

iz;Ru lkrR;kus gks≈ugh Hkkjrkrhy xzkeh.k

nkfjÊÓkps xq.kksRrj y{k.kh;i.ks ?kVysys ukgh-

dkj.k (R) : xzkeh.k Hkkxkrhy nkfjÊÓkps mPp

xq.kksRrj xzkeh.k lektkP;k rˇk'kh vlysY;k

yksdkaP;k lkekftd&lkaLœfrd O;ogkjk'kh

lacaf/kr vkgs] vls Eg.krkr-

ojhy fo/kkukaP;k lanHkkZr [kkyhyiSdh ;ksX;

ladsr fuoMk %

(A) (A) o (R) nksUgh cjkscj vkgsr o

(R) gs (A) ps vpwd Li"Vhdj.k vkgs

(B) (A) o (R) nksUgh cjkscj vkgsr ijarq

(R) gs (A) ps vpwd Li"Vhdj.k ukgh

(C) (A) cjkscj vkgs ijarq (R) pqdhps vkgs

(D) (A) pqdhps vkgs ijarq (R) cjkscj vkgs
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3. Match List I with List II and select
the correct answer from the codes
given below :

List I

(Authors)

(a) Goffman

(b) Giddens

(c) Derrida

(d) Schutz

List II

(Concepts)

(i) Impression management

(ii) Difference and deconstruction

(iii) Structure and agency

(iv) Stock of knowledge

(v) Communicative action

Codes :

(a) (b) (c) (d)

(A) (i) (iii) (ii) (iv)

(B) (i) (iii) (iv) (ii)

(C) (iii) (ii) (i) (iv)

(D) (v) (iii) (iv) (ii)

4. When an elder brother who is
a manager uses his influence to
get a job for his younger brother in
his company, this would be an
instance of :

(A) White-collar crime

(B) Corruption

(C) Delinquency

(D) Depotism

3. lwph I 'kh lwph II yk tqˇok vkf.k [kkyh
fnysY;k ladsrkrwu ;ksX; mRrj fuoMk %

lwph I

(ys[kd)

(a) xkWQeu

(b) fxMUl

(c) nsfjnk

(d) 'kqV~>

lwph II

(ladYiuk)

(i) izHkkokps O;oLFkkiu

(ii) foHksnu o fojpuk

(iii) lajpuk o drsZi.kk

(iv) KkuHkkaMkj

(v) laizs"k.kkRed fÿ;k

ladsr %

(a) (b) (c) (d)

(A) (i) (iii) (ii) (iv)

(B) (i) (iii) (iv) (ii)

(C) (iii) (ii) (i) (iv)

(D) (v) (iii) (iv) (ii)

4. daiuhr eWustj vl.kkjk ,d eksBk Hkk≈
tsOgk a vkik= i zHkko oki:u vkiY;k
ygku Hkkokyk uksdjh feˇowu ns.;kpk iz;Ru
djrks rsOgka rs d'kkps mnkgj.k Eg.kwu vkš [k š
tkrs \

(A) ika<jis'kh; xqUgk

(B) Hkz"Vkpkj

(C) xqUgsxkjh

(D) of'kysckth
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5. What is the term for the form of

development where nature is

preserved for future generations ?

(A) Social

(B) Economic

(C) Sustainable

(D) Human

6. The concept of ‘unequal and uneven

development’ has been put forward

by which scholar ?

(A) A.G. Frank

(B) S. Amin

(C) G. Myrdal

(D) D. McClelland

7. Which of the following scholars was

a pioneer in the sociological study

of co-operatives in India ?

(A) Y.B. Damle

(B) B.S. Baviskar

(C) Don Attwood

(D) S.A. Salunkhe

8. In Wallerstein’s world-systems

analysis, which of the following

constitute the units of analysis ?

(A) Nation-state, World-empires,

World-economies

(B) Minisystems, World-empires,

World-economies

(C) World-empires, Nation-state,

Minisystems

(D) World-economies, Nation-state,

Minisystems

5. Hkkoh fi<ÓkalkBh ftFks fulxZ lao/kZu dsys
tkrs] v'kk fodklkP;k izdkjyk dks.krh laKk
okijyh tkrs \

(A) lkekftd

(B) vkfFkZd

(C) 'kk'or

(D) ekuoh

6. ^vleku vkf.k vlarqfyr fodkl* gh ladYiuk
dks.kR;k fo}kukus ekaMyh vkgs \

(A) ,-th- ›°d

(B) lehj vehu

(C) th- feMkZy

(D) Mh- eWd~ysy°M

7. [kkyhyiSdh dk s.kr s fo}ku Hkkjrkrhy
lgdkjkP;k lekt'kkL=h; vH;klkps mn~xkrs
ekuys tkrkr \

(A) ok;~-ch- nkeys

(B) ch-,l- ckohldj

(C) MkWu vWVoqM

(D) ,l-,- lkˇqa[ks

8. okWyjLVhuP;k fo'o&O;oLFkk fo'ys"k.kkr]
[kkyhyiSdh dks.krh O;oLFkk fo'ys"k.kkpk ?kVd
curs \

(A) jk"V™&jkT;] fo'o&lkezkT;] fo'o&
vFkZO;oLFkk

(B) y?kq&O;oLFkk] fo'o&lkezkT;] fo'o&
vFkZO;oLFkk

(C) fo'o&lkezkT;] jk"V™&jkT;] y?kq&O;oLFkk

(D) fo'o&vFkZO;oLFkk] jk"V™&jkT;] y?kq&
O;oLFkk
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9. Which of the following constitutes

the components of human

development index ?

(I) Education

(II) Gender Empowerment

(III) Income

(IV) Life Expectancy

Choose the correct codes :

(A) (I) and (IV)

(B) (II) and (III)

(C) (I), (II) and (III)

(D) (I), (III) and (IV)

10. The view that tribal people should

be allowed to retain their special

characteristic while becoming a part

of the mainstream is known as :

(A) Acculturation

(B) Assimilation

(C) Cultural Relativism

(D) Isolationism

11. Brundtland Commission Report,

‘Our Common Future’ is related

to :

(A) Terrorism

(B) Environment and development

(C) Corruption

(D) Piracy

9. [kkyhyiSdh dks.krk ^ekuoh fodklkP;k
funsZ'kkadkpk ?kVd* curks \

(I) f'k{k.k

(II) fyaxHkko lcyhdj.k

(III)mRiUu

(IV) vk;qekZu

;ksX; ladsrkad fuoMk %

(A) (I) vkf.k (IV)

(B) (II) vkf.k (III)

(C) (I), (II) vkf.k (III)

(D) (I), (III) vkf.k (IV)

10. vkfnoklhauk R;kaph fo'ks"k oSf'k"VÓs fVdo.;kph
vuqerh |koh o R;k auh eq[; izokgkr
lgHkkxh Ogkos] vls eku.kkjk fopkjizokg
dks.krk \

(A) lelaLœrhdj.k

(B) lkfeyhdj.k

(C) lkaLœfrd lkis{krkokn

(D) vyxrkokn

11. czaMy°M dfe'kukpk ^voj dkWeu ∂;qpj* gk
d'kk'kh lacaf/kr vkgs \

(A) ng'krokn

(B) i;kZoj.k o fodkl

(C) Hkz"Vkpkj

(D) pkS;ZdeZ
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12. Silent Valley movement was mainly

against :

(A) Dam construction

(B) Nuclear plant construction

(C) Thermal plant construction

(D) Land acquisition for industries

13. According to MNREGA, an

adult in a rural area is assured of

how many days of employment in

a year ?

(A) 50

(B) 75

(C) 100

(D) 125

14. Productive work force in India is in

the age group of :

(A) Between 15 to 65 years

(B) Between 18 to 65 years

(C) Between 13 to 65 years

(D) Between 15 to 45 years

15. As per 2011 census, male-female

ratio in India is :

(A) 1000—950

(B) 1000—940

(C) 1000—835

(D) 1000—995

12. lk;ysUV OgWyh vkanksyu eq[;Ros ---------------

P;k fojks/kh gksrs-

(A) /kj.k cka/k.ks

(B) vkf.od izdYi mHkkj.kh

(C) vkSf".kd izdYi mHkkj.kh

(D) m|ksxklkBh tehu laiknu

13. eujsxk izek.ks xzkeh.k Hkkxkrhy izk S<kyk
,dk o"kkZr fdrh fnol jkstxkjkph geh fnysyh
vkgs \

(A) 50

(B) 75

(C) 100

(D) 125

14. Hk kjrkr mRiknd Je'kDrh dk s. kR;k
o;ksxVkrhy vkgs \

(A) 15 rs 65 o"ksZ

(B) 18 rs 65 o"ksZ

(C) 13 rs 65 o"ksZ

(D) 15 rs 45 o"ksZ

15. Hk kjrkrhy b-l- 2011P;k tux.kuk
vgokykuqlkj L=h&iq#"k izek.k fdrh vkgs \

(A) 1000—950

(B) 1000—940

(C) 1000—835

(D) 1000—995
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16. According to the theory of social
capillarity, people in the cities
produce less children because :

(A) They are faced with space
problem

(B) They cannot properly educate
them

(C) They have desire to go up the
social ladder

(D) There are social cleavages

17. National population policy 2000 does
not deal with ......................... .

(A) Women’s education

(B) Participation of men in planned
parenthood

(C) Prevention of attrocities on
women

(D) Health care for urban slums,
tribal groups and migrant
population

18. Which of the following years is
known as ‘Year of Big Divide’ in
India’s population history ?

(A) 1911

(B) 1921

(C) 1951

(D) 1971

19. According to Dr. B.R. Ambedkar the
dalits and marginalised in this
country will have struggle against
two adversaries. Which are they ?

(I) Brahmanism

(II) Capitalism

(III) Socialism

(IV) Communalism

Codes :

(A) (I) and (II)

(B) (I) and (IV)

(C) (II) and (III)

(D) (III) and (IV)

16. ^lkekftd dSf'kdrk* flºkarkuqlkj ukxjh yksd
deh eqykauk tUe nsrkr] dkj.k %
(A) R;kauk tkxsph leL;k vlrs
(B) rs R;kauk (eqykauk) f'k{k.k nsow 'kdr

ukghr
(C) R;kauk lkekftd lksiku p<wu tk.;kph

bPNk vlrs
(D) lkekftd fofHkUurseq š

17. jk"V™h; yksdla[;kfo"k;d /kk sj.k&2000
e/;s dks.kR;k ckchph n[ky ?ksryh ukgh \
(A) fL=;kaps f'k{k.k
(B) fu;k s ftr ikydRokrhy i q#"k k apk

lgHkkx
(C) fL=;kaojhy vR;kpkjkojhy fu;a=.k
(D) ukxjh xyhPN oLR;k] vkfnoklh lewg

vkf.k LFkˇkarjhr yksdkalkBh vkjksX;
lqfo/kk

18. Hk kjrh; yk sdla[; sP;k bfrgklkrhy
^egkfoHkktu o"k Z* [kkyhyiSdh dks.krs
vkgs \
(A) 1911

(B) 1921

(C) 1951

(D) 1971

19. MkW-ch-vkj- vkacsMdj ;kaP;k ers ;k ns'kkrhy
nfyr o lhekar ?kVdkauk nksu izfrLi/;k±'kh la?k"kZ
djkok ykxsy rs dks.krs \
(I) czk„.kokn
(II) HkkaMoyokn
(III)lektokn
(IV) tekrokn
ladsr %
(A) (I) o (II)

(B) (I) o (IV)

(C) (II) o (III)

(D) (III) o (IV)
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20. Who followed Marxism as a method

of analysis rather than a political

ideology ?

(A) N.K. Bose

(B) Radhakamal Mukherjee

(C) D.P. Mukherjee

(D) S.C. Dube

21. Which of the following matches is

not correct ?

(A) Louis Dumont— C a s t e

based on

purity and

pollution

(B) B.R. Ambedkar— Caste as

g r a d e d

form of

inequality

(C) M.N. Srinivas— Dominant

caste

(D) G.S. Ghurye— R a c i a l

origin of

caste

22. Which of the following captures the

correct features of slums ?

(A) All the poor of city live in

slums

(B) Physical and spatial

manifestation of urban poverty

and inequality

(C) All slum dwellers are poor

(D) Only those at the bottom of the

caste hierarchy live in slums

20. ekDlZoknkpk vafxdkj ,d jktdh;

fopkjiz.kkyh Eg.kwu uOgs] rj fo'ys"k.kkph iºr

Eg.kwu dks.kh dsyk \

(A) ,u-ds- cksl

(B) jk/kkdey eq[kthZ

(C) Mh-ih- eq[kthZ

(D) ,l-lh- nqcs

21. [kkyhyiSdh dks.krh tksMh pwd vkgs \

(A) yqbZ nÓqek° µ ikfo´; o

iznw"k.k ;koj

vk/kkfjr tkr

(B) ch-vkj- vkacsMdj µ tkr Eg.kts

J s . k h c º

vlekurk

(C) ,e-,u- Jhfuokl µ izHkkoh tkr

(D) th-,l- ?kq;sZ µ tkrhpk okaf'kd

mxe

22. [kkyhyiSdh dks.krk i;kZ; xfyPN oLrhps

oSf'k"VÓ ;ksX;i.ks ekaMrks \

(A) 'kgjkrhy nfjÊh vl.kkjs loZ yksd xfyPN

oLrhr jkgrkr

(B) ukxjh nkfjÊÓ o vlekursps HkkSfrd o

vodk'kkRed vfo"dj.k

(C) loZ xfyPN oLrhrhy jfgok'kh nfjÊh

vlrkr

(D) tkrhP;k mrjaMhr lokZr rˇk'kh vl.kkjs

QDr xfyPN oLrhr jkgrkr
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23. Surajit Sinha used two terms to
capture the interaction of cultural
streams in India. The terms used
are :

(A) Parochial and universal
stream

(B) Little and great tradition

(C) Simple and complex stream

(D) Modern and traditional

24. Match the following and select the
correct answer from the codes given
below :

Column I

(Authors)

(a) G.S. Ghurye

(b) A.R. Desai

(c) B.R. Ambedkar

(d) D. Hardiman

Column II

(Books)

(i) Caste in India

(ii) I and Other Explorations

(iii) State and Society in India

(iv) Feeding the Bania

(v) Tribal Life in India

Codes :

(a) (b) (c) (d)

(A) (v) (iii) (ii) (iv)

(B) (ii) (iii) (iv) (i)

(C) (iii) (v) (i) (ii)

(D) (ii) (iii) (i) (iv)

23. lqjftr flUgk ;kauh Hkkjrkrhy lkaLœfrd
izokgkrhy vkarjfÿ;kaps o.kZu dj.;klkBh
nksu laKk okijY;k vkgsr- R;k laKk %

(A) ladqfpr o lkoZf=d izokg

(B) y?kq ijaijk o c`gr~ ijaijk

(C) lk/ks o tfVy izokg

(D) vk/kqfud o ikjaifjd

24. tksMÓk ykok vkf.k [kkyh fnysY;k lafgrsrwu
;ksX; mRrj fuoMk %

LraHk I

(ys[kd)

(a) th-,l- ?kq;Zs

(b) ,-vkj- nslkbZ

(c) ch-vkj- vkacsMdj

(d) Mh- gkMhZeku

LraHk II

(xzaFk)

(i) dkLV bu bafM;k

(ii) vk;~ vWUM vnj ,DlIyksjs'kUl

(iii) LVsV vWUM lkslk;Vh bu bafM;k

(iv) QhMhax n cfu;k

(v) V™k;cy ykbZQ bu bafM;k

ladsr %

(a) (b) (c) (d)

(A) (v) (iii) (ii) (iv)

(B) (ii) (iii) (iv) (i)

(C) (iii) (v) (i) (ii)

(D) (ii) (iii) (i) (iv)
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25. Hkkjrkrhy okLro let.;klkBh izkP;

fo|k'kk[ksus [kkyhyiSdh dks.krk n`"Vhdksu

vafxdkjyk vkgs \

(A) {ksf=; n`"Vhdksu

(B) lafgrkfu"B n`"Vhdksu

(C) ewyxkeh n`"Vhdksu

(D) yksdmBko n`"Vhdksu

26. dks.kR;k lSºkafrd ladYiuh dj.kkuqlkj

fodklkph ladYiuk o O;ogkj gk ik'pkR;

txkP;k /kqfj.kRokps izfrfcac vkgs \

(A) ekDlZoknh

(B) vk/kqfudhdj.k

(C) tkxfrdhdj.k

(D) fodklksŸkj

27. Hkkjrh; vFkZO;oLFk sP;k mnkjhdj.kkuarj

dkexkjkaP;k vukSipkfjdhdj.kkps useds dk;

>kys \

(A) ok< >kyh

(B) Hkjiwj izek.kkr ?kV >kyh

(C) dks.krkgh cny >kyk ukgh

(D) lhekafrd ?kV >kyh

28. dkyZ ekDlZP;k ers] dks.kR;k mRiknu iz.kkyhr

vfrfjDr ewY;kph fufeZrh gksrs \

(A) izkphu&xqykefxjh

(B) ljatkenkjh

(C) HkkaMoy'kkgh

(D) lektoknh

25. Which of the following captures the

approach of Indology to understand

Indian reality ?

(A) Field view

(B) Book view

(C) Radical view

(D) Subaltern view

26. According to which theoretical

conceptualisation, is the concept

and practice of ‘development’ a

reflection of western world

hegemony ?

(A) Marxism

(B) Modernisation

(C) Globalisation

(D) Post-development

27. After liberalisation of Indian

economy, there has been

........................ in the informalisation

of labour.

(A) Increase

(B) Substantial decline

(C) No change

(D) Marginal decline

28. According to Karl Marx surplus

value is produced in which mode of

production ?

(A) Ancient-slavery

(B) Feudal

(C) Capitalist

(D) Socialist
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29. Who among the following has

formed ‘The Bombay Millhands’

Association’ in 1890 ?

(A) M.N. Roy

(B) B.G. Tilak

(C) G.K. Gokhale

(D) N.M. Lokhande

30. The book ‘Footloose Labour’ was

written by :

(A) David Hardiman

(B) Don Attwood

(C) Jan Breman

(D) Mario Rutten

31. Which of the following schemes

is launched to provide training to

the rural youths for their self-

employment ?

(A) IRDP

(B) DWCRA

(C) JRY

(D) TRYSEM

32. The book ‘Class and Class Conflict

in Industrial Society’ was written

by :

(A) Max Weber

(B) Karl Marx

(C) Ralph Dahrendorf

(D) Vilfredo Pareto

29. [kkyhyiSdh dks.kh 1890 e/;s ^fn ck°cs

feyg°Ml~ vlksf'k,'ku*ph LFkkiuk dsyh \

(A) ,e-,u- jkW;

(B) ch-th- fVˇd

(C) th-ds- xks[kys

(D) ,u-,e- yks[kaMs

30. ^QqVyqt yscj* gs iqLrd dks.kh fyfgys \

(A) MsfOgM gkfMZeu

(B) MkWu vWVowM

(C) ;ku czseu

(D) ekfjvks jVu

31. xzkeh.k ;qodkauk R;kaP;k Lo;ajkstxkjkP;k

izf'k{k.kkdfjrk [kkyhyiSdh dks.krh ;kstuk

dk;kZfUor dj.;kr vkyh \

(A) vk;-vkj-Mh-ih-

(B) Mokÿk

(C) ts-vkj-ok;-

(D) V™k;lse

32. ^Dykl v°M Dykl dkWu~f∂yDV bu baMfLV™;y

lkslk;Vh* gs iqLrd dks.kh fyfgys \

(A) eWDl oscj

(B) dkyZ ekDlZ

(C) jkYQ MgjsUMkWQZ

(D) foY›sMks ijsVks
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33. Which of the following scholars

developed the ‘Responsible Unionism

Theory’ in India ?

(A) D.R. Gadgil

(B) S.A. Dange

(C) N.M. Lokhande

(D) Ashok Mehta

34. Which of the following is not a

determinant of population growth in

India ?

(A) Poverty

(B) Inequality

(C) Illiteracy

(D) Cultural Practices

35. The biological capacity for

reproduction of women is known

as :

(A) Fertility

(B) Fecundity

(C) Birth rate

(D) Mortality

36. According to Malthus in the control

over population famine represents

an example of :

(A) Preventive checks

(B) Positive checks

(C) Negative checks

(D) Morbid checks

33. [kkyhyiSdh dks.kR;k fo}kukuh ^tckcnkj
la?koknkpk flºk ar* Hkkjrkr fodflr
dsyh \

(A) Mh-vkj- xkMxhˇ

(B) ,l-,- Mkaxs

(C) ,u-,e- yks[kaMs

(D) v'kksd esgrk

34. [kkyhyiSdh dks.krk Hkkjrkrhy yksdla[;k
ok<hpk fu/kkZjd ukgh \

(A) nkfjÊÓ

(B) fo"kerk

(C) fuj{kjrk

(D) lkaLœfrd O;ogkj

35. fL=;kaph iqu#Riknukph tSfod {kerk dks.kR;k
ukokus vkš [kyh tkrs \

(A) tuu

(B) tuu{kerk

(C) tUenj

(D) eR;Zrk

36. yksdla[;k fu;a=.kkP;k ckcrhr ekYFkl~P;k
ers nq"dkˇ gs d'kkps mnkgj.k vkgs \

(A) izfrca/kkRed fu;a=d

(B) ldkjkRed fu;a=d

(C) udkjkRed fu;a=d

(D) jksx fu;a=d
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37. Which of the following indicates
the correct stages of demographic
transition ?
(I) Low fertility and low mortality
(II) High fertility and low mortality
(III) Low mortality and high

fertility
(IV) High fertility and high mortality
Codes :
(A) (IV), (II) and (I)
(B) (I), (II) and (III)
(C) (III), (II) and (I)
(D) (I), (II) and (IV)

38. Who of the following indicated the
emergence of capitalist mode of
production in Indian agriculture ?
(A) Ashok Rudra
(B) Utsa Patnaik
(C) Alice Thorner
(D) Amit Bhaduri

39. Match List I with List II and select
the correct answer from the codes
given below :

List I
(Villages)

(a) Wangela
(b) Ramkheri
(c) Mahuva
(d) Rampura

List II
(Sociologists)

(i) A.C. Mayer
(ii) F.G. Bailey
(iii) M.N. Srinivas
(iv) I.P. Desai
(v) T.S. Epstein
Codes :

(a) (b) (c) (d)
(A) (v) (i) (iv) (iii)
(B) (ii) (i) (iii) (v)
(C) (iii) (iv) (ii) (i)
(D) (iv) (ii) (iii) (v)

37. [kkyhyiSdh dks.krh voLFkk yksdla[;k
laÿe.kkph funsZ'kd vkgs \
(I) deh tuunj vkf.k deh e`R;qnj
(II) mPp tUenj vkf.k deh e`R;qnj
(III)deh e`R;qnj vkf.k mPp tUenj
(IV) mPp tuunj vkf.k mPp e`R;qnj
lafgrk %
(A) (IV), (II) vkf.k (I)

(B) (I), (II) vkf.k (III)

(C) (III), (II) vkf.k (I)

(D) (I), (II) vkf.k (IV)

38. [kkyhyiSdh dks.kh Hkkjrkrhy œ"kh{ks=k
e/;s HkkaMoy'kkgh izf.kr mRiknu iz.kkyhph
lq#okr >kY;kps funsZf'kr dsys \
(A) v'kksd #Ê
(B) mRlk iVukbZd
(C) vWyhl FkkWuZj
(D) vfer Hkknqjh

39. [kkyhy ;knh I o ;knh II e/khy uksanhP;k
tksMÓk ykok vkf.k fnysY;k ladsrkadkarwu ;ksX;
mRrj fuoMk %

lwph I

([ksMh)
(a) okaxsyk
(b) jke[ksMh
(c) egqok
(d) jkeiqjk

lwph II

(lekt'kkL=K)
(i) ,-lh- ek;j
(ii) ,Q-th- csyh
(iii) ,e-,u- Jhfuokl
(iv) vk;-ih- nslkbZ
(v) Vh-,l- ,fifLVvu
ladsrkad %

(a) (b) (c) (d)

(A) (v) (i) (iv) (iii)

(B) (ii) (i) (iii) (v)

(C) (iii) (iv) (ii) (i)

(D) (iv) (ii) (iii) (v)
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40. Which of the following is not a cause

of rising trend of migration from

rural to urban areas ?

(A) Decline of farm income

(B) Growing impoverishment of

rural population

(C) Availability of alternative

sources of livelihood in urban

areas

(D) Better quality of urban life

41. Which of the following is associated

with Green Revolution ?

(A) Land reforms

(B) Poverty alleviation

(C) HYV technology

(D) Agrarian unrest

40. [kkyhyiSdh dk s.kr s x z keh.k r s 'kgjh

LFkˇkarjkP;k ok<R;k dykps dkj.k ukgh \

(A) 'ksrh mRiUukrhy ?kV

(B) xzkeh.k yksdla[;sps ok<rs nkfjÊÓ

(C) ukxjh {ks=krhy mnjfuokZgkP;k i;kZ;h

lk/kukph miyC/krk

(D) ukxjh thoukph pkaxyh xq.koŸkk

41. [kkyhyiSdh dks.krk ?kVd gfjr ÿkarh'kh

lacaf/kr vkgs \

(A) tehu lq/kkj.kk

(B) nkfjÊÓ fueqZyu

(C) vf/kd mRiUu ns.kkÚ;k tkrhaps ra=Kku

(D) 'ksrh {ks=krhy v'kkarrk
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42. Which one of the following is not a

type of power elucidated by

M. Foucault ?

(A) Bio-power

(B) Sovereign Power

(C) Disciplinary Power

(D) Surveillance Power

43. Derrida’s method of deconstruction

is aimed to bring out :

(i) Inconsistencies in the narrative

(ii) Gaps and silences

(iii) Experiences

(iv) Discovering structures

Codes :

(A) (i), (ii) and (iii)

(B) (i), (iii) and (iv)

(C) (i), (ii) and (iv)

(D) (i) and (ii)

44. Who coined the term ‘Mistaken

Modernity’ ?

(A) Dipankar Gupta

(B) Yogendra Singh

(C) S.C. Dube

(D) Rudolph and Rudolph

42. [kkyhyiSdh dks.krk ,e- Qwdks ;kauh Li"V

dsysY;k lRrsP;k izdkjkaiSdh izdkj ukgh \

(A) ck;ks&ikoj

(B) lkWOgfju (lkoZHkkSe) ikoj

(C) fMflfIyujh ikoj

(D) losZyUl ikoj

43. nsfjnkP;k fojpuk iºrhps mfÌ"V --------------

m?kM dj.ks gs vkgs-

(i) dFkukrhy folaxrh

(ii) fjDrrk o LrC/krk

(iii) vuqHko

(iv) lajpuspk 'kks/k

ladsr %

(A) (i), (ii) o (iii)

(B) (i), (iii) o (iv)

(C) (i), (ii) o (iv)

(D) (i) o (ii)

44. ^fel~Vsdu ekWMfuZVh* gh laKk dks.kh fuekZ.k

dsyh \

(A) nhiadj xqIrk

(B) ;ksxsUÊ flax

(C) ,l-lh- nqcs

(D) #MkWYQ o #MkWYQ
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45. Given below are two statements

labelled as Assertion (A) and

Reason (R) :

Assertion (A) : A.K. Saran was the

first to put forward the argument for

a ‘Sociology for India’.

Reason (R) : Saran believed that

European perspective needs to be

countered by a perspective based on

Indian values.

From the codes given below, which

is the correct answer ?

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

45. [kkyh nksu fo/kkus fnysyh vkgsr- ,dkl

fo/kku (A) vkf.k nqlÚ;kl dkj.k (R) vls

lacks/kys vkgs %

fo/kku (A) : ^HkkjrklkBhps lekt'kkL=* ;k

fo"k;h ,-ds- lju ;kauh loZizFke vkiyk izfrokn

lknj dsyk-

dkj.k (R) : ;qjksih;u n`"Vhdksukyk Hkkjrh;

ewY;koj vk/kkfjr n`"Vhdksukus izR;qRrj fnys

ikfgts] vlk lju ;kapk fo'okl gksrk-

[kkyh fnysY;k ladsrke/kwu vpwd mRrj

fuoMk %

ladsrkad %

(A) (A) o (R) nksUgh cjkscj vkgsr vkf.k

(R) gs (A) ps vpwd Li"Vhdj.k vkgs

(B) (A) o (R) nksUgh cjkscj vkgsr ijarq (R)

gs (A) ps pqdhps Li"Vhdj.k vkgs

(C) (A) cjkscj vkgs ijarq (R) pwd vkgs

(D) (A) pwd vkgs ijarq (R) cjkscj vkgs
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46. Who is the author of the book,

‘Against the Madness of Manu’ ?

(A) Leela Dube

(B) Sharmila Rege

(C) Neera Desai

(D) Vidyut Bhagwat

47. Which of the following would not

be associated with secularism ?

(A) State not involved in religious

issues

(B) State treating all religions

equally

(C) Performing prayers at the

beginning of a seminar

(D) Religion is a private matter

46. ^vxsULV n eWMusl vkWQ euw* ;k iqLrdkP;k

ysf[kdk dks.k vkgsr \

(A) yhyk nqcs

(B) 'kfeZyk jsxs

(C) uhjk nslkbZ

(D) fo|qr Hkkxor

47. [kkyhyiSdh dks.krh xks"V /keZfujis{krkoknk'kh

lacaf/kr ukgh \

(A) jkT;laLFkk /kkfeZd ckchar lgHkkxh

ukgh

(B) loZ /kek±uk jkT;laLFkk leku okx.kwd

nsrs

(C) ppkZ l=kaP;k lq#okrhyk iwtkvpkZ dj.ks

(D) /keZ gh [kktxh ckc vkgs
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48. The debate on domestic labour is

based on :

(A) Division of labour

(B) Relations of production

(C) Sexuality

(D) Social Reproduction

49. Patricia Hill Collins’s Epistemology

can be defined as :

(A) Philosophic viewpoint based on

epistemology

(B) What one knows is affected by

the standpoint one has in

society

(C) Critical epistemology

facilitating interpretation of

life

(D) Multidimensional perspective to

experience and reality

48. ?kjxqrh Jekfo"k;hpk oknfookn [kkyhyiSdh

d'kk'kh lacaf/kr vkgs \

(A) JefoHkkx.kh

(B) mRiknukps laca/k

(C) ySafxdrk

(D) lkekftd iqu#Riknu

49. iWfV™f'k;k fgy dkWfyUl ;kaP;k Kkuehekalk'kkL=kph

O;k[;k [kkyhy izek.ks djrk ;sbZy %

(A) Kkuehek alk'k kL=koj vk/k k fjr

rRoKkukRed n`"Vhdksu

(B) vkiY;kyk ts Kku gksrs] rs vkiY;k

lkekftd LFkkukoj vk/kkjysys vlrs

(C) vls fpfdRld Kkuehekalk'kkL=] ts

thoukpk vUo;okn lqdj djrs

(D) vuqHko o okLrokfo"k;hpk cgqvk;keh

n`"Vhdksu
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50. The Khairlanji Atrocities case

explains :

(i) Combination of caste hierarchy

and gender hierarchy

(ii) Humiliation of Dalits

(iii) Rivalry on material level

(iv) Coercion, violence and attack on

dignity of Dalit women

Select the correct option from the

codes given below :

(A) (i) and (iv)

(B) (i), (ii), (iii) and (iv)

(C) (i), (ii) and (iv)

(D) (ii) and (iv)

50. [kSjykath vR;kpkj ?kVuk d'kkps Li"Vhdj.k

nsrs \

(i) tkrhps Lrjhdj.k o fyaxHkkokp s

Lrjhdj.k

(ii) nfyrkaph eku[kaMuk

(iii) ,sfgd ikrˇhojhy 'k=qRo

(iv) fL=;kaP;k izfr"Bsoj gYyk] neu o

fgalk

[kkyhy ladsrkae/kwu ;ksX; i;kZ; fuoMk %

(A) (i) o (iv)

(B) (i), (ii), (iii) o (iv)

(C) (i), (ii) o (iv)

(D) (ii) o (iv)
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51. Match List I with List II and select

the correct answer from the codes

given below :

List I

(Agrarian Unrest)

(a) Moplah Rebellion

(b) Deccan Riots

(c) Naxalbari Movement

(d) Halipratha Movement

List II

(States)

(i) Maharashtra

(ii) Kerala

(iii) Bihar

(iv) West Bengal

(v) Gujarat

Codes :

(a) (b) (c) (d)

(A) (i) (iv) (iii) (v)

(B) (ii) (iv) (i) (iii)

(C) (iv) (ii) (v) (iii)

(D) (ii) (i) (iv) (v)

51. [kkyhy ;knh I o ;knh II e/khy uksanhaP;k

tksMÓk ykok vkf.k fnysY;k ladsrkadkrwu ;ksX;

mRrj fuoMk %

;knh I

(œ"kh {ks=krhy v'kkarrk)

(a) eksiyk caM[kksj

(b) n[[kuph naxy

(c) u{kyoknh pˇoˇ

(d) gyhizFkk pˇoˇ

;knh II

(jkT;s)

(i) egkjk"V™

(ii) dsjˇ

(iii) fcgkj

(iv) if'pe caxky

(v) xqtjkr

ladsrkad %

(a) (b) (c) (d)

(A) (i) (iv) (iii) (v)

(B) (ii) (iv) (i) (iii)

(C) (iv) (ii) (v) (iii)

(D) (ii) (i) (iv) (v)
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52. Match the following and select the

correct answer from the codes given

below :

List I

(Theory)

(a) Liberal Feminism

(b) Socialist Feminism

(c) Radical Feminism

(d) Eco-Feminism

List II

(Argument)

(i) Reproduction and Violence are

key concerns

(ii) Women as oppressed class

(iii) Equal status and opportunities

for men and women

(iv) Women have potential to

nurture society and nature

(v) Economic empowerment is most

important

Codes :

(a) (b) (c) (d)

(A) (iii) (ii) (i) (iv)

(B) (ii) (iv) (i) (iii)

(C) (ii) (iv) (iii) (i)

(D) (iv) (iii) (ii) (i)

52. tksMÓk ykok vkf.k [kkyh fnysY;k ladsrkrwu

;ksX; mRrj fuoMk %

lwph I

(flºkar)

(a) mnkjeroknh L=hokn

(b) lektoknh L=hokn

(c) tgkyeroknh L=hokn

(d) ifjfLFkrh'kkL=h; L=hokn

lwph II

(izfriknu)

(i) iztuu o fgalk gs dˇhps vkLFkkfo"k;

(ii) fL=;k Eg.kts 'kksf"kr oxZ

(iii) L=h o iq#"kkauk leku ntkZ o la/kh

(iv) fL=;kadMs fulxZ o lektkps Hkj.kiks"k.k

dj.;kph {kerk vlrs

(v) vkfFkZd lcyhdj.k lokZr egRRokps

vlrs

ladsr %

(a) (b) (c) (d)

(A) (iii) (ii) (i) (iv)

(B) (ii) (iv) (i) (iii)

(C) (ii) (iv) (iii) (i)

(D) (iv) (iii) (ii) (i)
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53. Declining sex ratio in India is a

result of :

(i) Cultural subordination of

women

(ii) Materialist concerns about

dowry

(iii) Sexual assaults on women

(iv) Son preference

Select the correct option from the

codes given below :

(A) (i), (ii) and (iv)

(B) (i) and (iv)

(C) (ii), (iii) and (i)

(D) (ii), (iv) and (iii)

53. Hkkjrkrhy ?kVrk fyaxnj ------------------------- pk

ifj.kke vkgs-

(i) fL=;kaps lkaLœfrd nq∏;eRo

(ii) gqaMÓkfo"k;hP;k ,sfgdrkoknh /kkj.kk

(iii) fL=;kaojhy ySafxd gYys

(iv) iq= vxzÿe

[kkyhy ladsrkaiSdh ;ksX; i;kZ; fuoMk %

(A) (i), (ii) o (iv)

(B) (i) o (iv)

(C) (ii), (iii) o (i)

(D) (ii), (iv) o (iii)
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54. Given below are two statements,

one is labelled as Assertion (A)

and the other is labelled as

Reason (R) :

Assertion (A) : Whereas women’s

entry in formal jobs is assigned to

modernity, their contribution as

torch bearers of cultural practices is

not acknowledged.

Reason (R) : Most scholars looking

at Indian society analysed it in

terms of a binary division between

tradition and modernity.

Select the correct codes :

(A) Both (A) and (R) are true and

(R) is the correct explanatin

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanatin

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

54. [kkyhy ,d fo/kku (A) vkf.k nqlÚ;kl dkj.k

(R) vls lacks/kys vkgs %

fo/kku (A) : fL=;kapk vkSipkfjd uksdÚ;krhy

izos'k vk/kqfudrseq š gksrks] vls ekuys tkrs]

ijarq R;kaP;k lkaLœfrd O;ogkjkyk vl.kkÚ;k

;ksxnkukph n[ky ?ksryh tkr ukgh-

dkj.k (R) : Hkkjrh; lektkps v/;;u

dj.kkÚ;k cOga'kh fo}kukauh Hkkjrh; lektkps

fo'ys"k.k }Srh iºrhus ijaijk o vk/kqfudrk

;k izdkjs dsys vkgs-

[kkyhyiSdh ;ksX; ladsr fuoMk %

(A) (A) o (R) nksUgh cjkscj vkgsr vkf.k

(R) gs (A) ps vpwd Li"Vhdj.k vkgs

(B) (A) o (R) nksUgh cjkscj vkgsr ijarq (R)

gs (A) ps vpwd Li"Vhdj.k ukgh

(C) (A) gs cjkscj vkgs ijarq (R) gs pwd

vkgs

(D) (A) gs pwd vkgs ijarq (R) gs cjkscj

vkgs
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55. In a factory the labourers employed

are paid wages at rate Rs. 100.00

(one hundred) for rolling 1000 Bidis

(one thousand). This form of labour

is called :

(A) White-collar worker

(B) Casual labour

(C) Blue-collar worker

(D) Agricultural labour

56. Match List I with List II and select

the correct answer from the codes

given below :

List I

(Books)

(a) Studies in Agrarian Social

Structure

(b) Social Background of Indian

Nationalism

(c) Remembered Village

(d) South India : Yesterday, Today

and Tomorrow

List II

(Authors)

(i) Daniel Thorner

(ii) Andre Beteille

(iii) T.S. Epstein

(iv) A.R. Desai

(v) M.N. Srinivas

Codes :

(a) (b) (c) (d)

(A) (ii) (iv) (v) (iii)

(B) (i) (iv) (v) (ii)

(C) (ii) (i) (iii) (iv)

(D) (v) (iv) (i) (iii)

55. ,dk dkj[kkU;ke/;s useysY;k dkexkjkauk
,d gtkj fcMÓk oˇ.;klkBh 'kaHkj #i;s
fnys tkrkr- JfedkaP;k ;k izdkjkyk dk;
Eg.krkr \

(A) ika<jis'kh; dkexkj

(B) izklafxd dkexkj

(C) dkexkj

(D) œf"kfo"k;d dkexkj

56. [kkyhy ;knh I o ;knh II e/khy uksanhP;k
tksMÓk ykok vkf.k fnysY;k ladsrkadkrwu ;ksX;
mRrj fuoMk %

;knh I

(iqLrds)

(a) LVMht bu vWxzsfj;u lks'ky LV™Dpj

(b) lks'ky cWDxzk≈aM vkWQ bafM;u uW'kuWfy>e

(c) fjesEcMZ fOgyst

(d) lk≈Fk bafM;k % ;LVjMs] VqMs v°M
Vqekjks

;knh II

(ys[kd)

(i) MWfu,y FkkWuZj

(ii) vkUÊs csrs

(iii) Vh-,l- ,fiLVvu~

(iv) ,-vkj- nslkbZ

(v) ,e-,u- Jhfuokl

ladsrkad %

(a) (b) (c) (d)

(A) (ii) (iv) (v) (iii)

(B) (i) (iv) (v) (ii)

(C) (ii) (i) (iii) (iv)

(D) (v) (iv) (i) (iii)
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57. The latest science and technology

policy of India 2013 emphasises

on :

(A) Technological competence

(B) Promoting Scientific Temper

(C) Increase in Investment in

Research and Development

(D) Innovation

58. Till what age is the labour of a

youngster classified as child labour

in India ?

(A) 12

(B) 13

(C) 14

(D) 15

59. The concept of absolute poverty is

grounded in the idea of :

(A) Social exculsion

(B) Cultural relativism

(C) Social deprivation

(D) Subsistence

60. According to PESA Act, which

institution has been given power to

grant licence for mining in tribal

areas ?

(A) Village Panchayat

(B) Village Sarpanch

(C) Gram Sabha

(D) Gram Talati

57. Hkkjrkrhy b-l- 2013 e/khy foKku vkf.k
ra=Kkufo"k;d vfydMhy /kksj.kkr dks.kR;k
ckchyk egRo fnys vkgs \

(A) ra=Kkufo"k;d dk;Z{kerk

(B) oSKkfud n`"Vhdksukyk mRrstu

(C) la'k k s / ku vkf.k fodklklkBhP;k
xqaro.kqdhr ok<

(D) ukfoU;rk

58. Hkkjrkr fdrh o"kZs o;ki;±rP;k r#.kkps Je
gs ckyetqjh ;k oxhZdj.kkr ;srkr \

(A) 12

(B) 13

(C) 14

(D) 15

59. fujis{k nkfjÊÓkph ladYiuk ------------------

dYiusoj vk/kkjysyh vkgs-

(A) lkekftd oftZrrk

(B) lkaLœfrd lkis{krkokn

(C) lkekftd oafprrk

(D) fuokZg

60. ^islk* dk;|kuqlkj dks.kR;k laLFksyk vkfnoklh
{ks=ke/;s [kk.kdke dj.;kpk ijokuk ns.;kpk
vf/kdkj ns.;kr vkyh vkgs \

(A) xzke iapk;r

(B) xzke ljiap

(C) xzke lHkk

(D) xzke rykBh
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61. The committee to investigate

into incidence of malnutrition in

Melghat area of Maharashtra was

headed by :

(A) Abhay Bang

(B) Sham Ashtekar

(C) Rani Bang

(D) Abhay Shukla

62. Name the scholar who uses the

concepts of ‘orthogenetic’ and

‘heterogenetic’ changes in his

analysis of process of modernisation

in India ?

(A) M. Singer

(B) Y. Singh

(C) M.N. Srinivas

(D) S.C. Dube

63. Which of the following committees

highlighted the depressed socio-

economic and educational status of

Muslims in India ?

(A) Bhore Committee

(B) Sachchar Committee

(C) Mandal Commission

(D) Swaminathan Committee

64. Which of the tribal groups of

North-East is seeking a separate

state to be carved out of Assam ?

(A) Bodo

(B) Mizo

(C) Garo

(D) Kuki

61. egkjk"V™kP;k esˇ?kkV Hkkxkrhy dqiks"k.kkpk
vH;kl dj.;klkBh useysY;k lferhps izeq[k
---------------------------- gksrs-

(A) vHk; cax

(B) 'kke v"Vsdj

(C) jk.kh cax

(D) vHk; 'kqDyk

62. Hkkjrkrhy vk/k qfudhdj.kkP;k izfÿ;sps
fo'ys"k.k djrkuk ^varxZr* o ^cfgxZr*
ifjorZukP;k ladYiuk dks.kR;k fo}kukus
okijY;k \

(A) ,e- flaxj

(B) ok;- flax

(C) ,e-,u- Jhfuokl

(D) ,l-lh- nqcs

63. Hkkjrkrhy eqLyhekapk lkekftd&vkfFkZd vkf.k
'kS{kf.kd ekxklysi.kk v/kksjs[khr dsysY;k
lferhps uko dk; vkgs \

(A) Hkksj lferh

(B) lPpj lferh

(C) eaMy vk;ksx

(D) LokehukFku lferh

64. vklkee/kqu osxˇs dk<wu bZ'kkU; Hkkxkrhy
dks.krk vkfnoklh leqg Lora= jkT;kph ekx.kh
djr vkgs \

(A) cksMks

(B) fe>ks

(C) xkjks

(D) dqdh

http://www.studentbounty.com/
http://studentbounty.com/


29 [P.T.O.

DEC - 14313/III

65. Which of the following is a tribe of

Andaman Islands ?

(A) Santhal

(B) Bhil

(C) Onge

(D) Toda

66. Foucault’s research was focused

broadly in three areas of history.

Which are they ?

(I) Study of Psychiatry

(II) Medicine

(III) Penology

(IV) Education

Codes :

(A) (I) and (II)

(B) (II), (III) and (IV)

(C) (I), (II) and (III)

(D) (I), (III) and (IV)

65. [kkyhyiSdh dks.krs vkfnoklh vaneku csVkoj

vk<ˇrkr \

(A) laFkky

(B) Hkhy

(C) vksaxs

(D) VksMk

66. Qwdks ;kaps la'kks/ku O;kidi.ks bfrgklkP;k

rhu {ks=kr dsaÊhHkwr >kysys gksrs- rh {ks=

dks.krh \

(I) euksfodkj'kkL=kps v/;;u

(II) vkS"k/kfoKku

(III)naM'kkL=

(IV) f'k{k.k

ladsr %

(A) (I) o (II)

(B) (II), (III) o (IV)

(C) (I), (II) o (III)

(D) (I), (III) o (IV)
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67. Which of the following sets has the

correct list of communities

considered to be minorities in

India ?

(A) Christians, Muslims, Jews

(B) Muslims, Buddhists, Jains

(C) Christians, Zoroastrians, Jains

(D) Sikhs, Zoroastrians, Buddhists

68. Which language often used and

spoken in Indian Parliament is not

listed in Eighth schedule of the

Indian Constitution ?

(A) Sindhi

(B) Nepali

(C) Santhali

(D) English

67. [kkyhyiSdh dks.kR;k lapkrhy leqnk;

Hkkjrkrhy vYila[;kd Eg.kwu lacks/kys

tkrkr \

(A) [kzh'pu] eqLyhe] T;q

(B) eqLyhe] ckSº] tSu

(C) [kzh'pu] >ksjkLV™hu] tSu

(D) 'kh[k] >ksjkLV™hu] ckSº

68. Hkkjrh; lalnsr dks.krh Hkk"kk tkLr izek.kkr

cksyyh o okijyh tkrs dh th Hkkjrh;

lafo/kkukP;k vkBO;k vuqlwph e/;s lekfo"V

ukgh \

(A) fla/kh

(B) usikˇh

(C) laFkkyh

(D) baxzth
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69. Given below are two statements. One

is labelled Assertion (A) and other

is Reason (R) :

Assertion (A) : There is no absolute

way of defining a deviant art, as

deviance is relative.

Reason (R) : Deviance is culturally

determined and cultures change

overtime and vary from society to

society.

Select the correct answer from the

codes given below :

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanatin

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

69. [kkyh nksu fo/kkkus fnyh vkgsr- ,dkl

fo/kku (A) vkf.k nqlÚ;kl dkj.k (R) vls

lacks/kys vkgs %

fo/kku (A) : foiFkxkfeœfrph O;k[;k

dj.;kpk vafre ekxZ ulwu foiFkxkehRo lkis{k

vlrs-

dkj.k (R) : foiFkxkehRo lkaLœfrd&n`"VÓk

fu/kk Zfjr gksrs o laLœfr dkˇkuqlkj o

lektkuqlkj cnyrs-

[kkyh fnysY;k ladsrkae/kwu vpwd mRrj

fuoMk %

ladsr %

(A) (A) vkf.k (R) nksUgh cjkscj vkgsr vkf.k

(R) gs (A) ps vpwd Li"Vhdj.k vkgs

(B) (A) vkf.k (R) nksUgh cjkscj vkgsr ijarq

(R) gs (A) ps vpwd Li"Vhdj.k ukgh

(C) (A) gs cjkscj vkgs ijarq (R) gs pwd

vkgs

(D) (A) gs pwd vkgs ijarq (R) gs cjkscj

vkgs
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70. Which of the following speech

varieties of Hindi is spoken in

Uttarakhand ?

(1) Garhwali

(2) Marwari

(3) Kumauni

(4) Bhojpuri

The correct code is :

(A) (1) and (2)

(B) (1) and (3)

(C) (2), (3) and (4)

(D) (1), (2) and (4)

71. As per the prevention of Domestic

Violence Act, 2005, violence is

defined to include which of the

following :

(1) Physical

(2) Mental

(3) Sexual

(4) Economic

Choose the correct code from

below :

(A) (3) only

(B) (1) and (3)

(C) (1), (2) and (3)

(D) (1), (2), (3) and (4)

70. mŸkjk[kaMe/;s [kkyhyiSdh dks.kR;k izdkjP;k

fganh cksyh cksyyh tkrs \

(1) x<okyh

(2) ekjokjh

(3) dqek≈uh

(4) Hkkstiqjh

;ksX; ladsr fuoMk %

(A) (1) o (2)

(B) (1) o (3)

(C) (2), (3) o (4)

(D) (1), (2) o (4)

71. dkSVqafcd fgalk izfrca/k dk;nk 2005P;k

vUo;s fgalsP;k O;k[;sr [kkyhyiSdh dks.kR;k

xks"Vhapk varHkkZo gksrks \

(1) 'kkjhfjd

(2) ekufld

(3) ySafxd

(4) vkfFkZd

;ksX; ladsr fuoMk %

(A) dso  ̌ (3)

(B) (1) o (3)

(C) (1), (2) o (3)

(D) (1), (2), (3) o (4)
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72. Which of the following books

reflects Gandhian approach to

development ?

(A) The Asian Drama

(B) The Small is Beautiful

(C) The Social Background of

Indian Nationalism

(D) The Annihilation of Caste

73. In whose philosophical work the

intellectual roots of

Phenomenological Sociology of

Schutz lie ?

(A) Edmund Husserl

(B) Herbert Mead

(C) George Hegel

(D) Martin Heidegger

72. [kkyhyiSdh dks.kR;k iqLrdke/;s fodklkpk

xka/khoknh n`"Vhdksu izfrfcachr gksrks \

(A) n ,f'kvu M™kek

(B) n LekWy bt C;wfVQwy

(C) n lks'ky cWdxzkmaM vkWQ bafM;u

uW'kuWfy>e

(D) n vWfufgys'ku vkWQ dkLV

73. 'kqV~> ;kaP;k iz?kVuk'kkL=h; lekt'kkL=kph

ckSfºdeqˇs dks.kkP;k rRoKkukRed dk;kZr

vkgsr \

(A) ,MeaM gqlzy

(B) gcZVZ ehM

(C) tkWtZ gsxsy

(D) ekVhZu gSMsxj
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74. “A process in which individuals come

to mutual understanding and

consensus through non-coercive

debate and discussion.” This applies

to :

(A) Communicative Action

(B) Colonization of lifeworld

(C) Rational Communication

(D) Communicative lifeworld

75. Which of the following, according to

Althusser, are the instruments of

ideological state apparatus ?

(I) Education

(II) Army

(III)Family

(IV) Prison

(V) Media

Choose the correct answer from the

codes given below :

(A) (I), (II) and (III)

(B) (II), (IV) and (V)

(C) (I), (IV) and (V)

(D) (I), (III) and (V)

74. ^^v'kh izfÿ;k dh ftP;kr vneukRed

oknfookn o ppk±}kjs O;Drh ijLij lkeatL;

o erSD;kyk iksprkr-** gh O;k[;k dks.kR;k

ladYiusyk ykxw iMrs \

(A) laizs"k.kkRed fÿ;k

(B) thotxrkps olkgrhdj.k

(C) rkfdZd laisz"k.k

(D) laisz"k.kkRed thotxr

75. vYFkwtj ;kaP;k ers [kkyhyiSdh rRoiz.kkyh;qDr

'kklu ;a=.ks lk/kus dks.krh \

(I) f'k{k.k

(II) lsukny

(III)dqVqac

(IV) rq#ax

(V) ek/;es

[kkyh fnysY;k ladsrkrwu vpwd mŸkj

fuoMk %

(A) (I), (II) o (III)

(B) (II), (IV) o (V)

(C) (I), (IV) o (V)

(D) (I), (III) o (V)
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